HW6 25 questions

BUSINESS FINANCE


.
Hancock Furniture Inc. is considering new expansion plans for building a new store.  In reviewing the proposed new store, several members of the firm’s financial staff have made a number of points regarding the proposed project.  Which of the following items should the CFO include in the analysis when estimating the project’s net present value (NPV)?

a.
The new store is expected to take away sales from two of the firm’s existing stores located in the same town.

b.
The company owns the land that is being considered for use in the proposed project.  This land could instead be leased to a local developer.

c.
The company spent $2 million two years ago to put together a national advertising campaign.  This campaign helped generate the demand for some of its past products, which have helped make it possible for the firm to consider opening a new store.

d.
Statements a and b are correct.

e.
All of the statements above are correct.


.
Twin Hills Inc. is considering a proposed project.  Given available information, it is currently estimated that the proposed project is risky but has a positive net present value. Which of the following factors would make the company less likely to adopt the current project?

a.
It is revealed that if the company proceeds with the proposed project, the company will lose two other accounts, both of which have positive NPVs.

b.
It is revealed that the company has an option to back out of the project 2 years from now, if it is discovered to be unprofitable.

c.
It is revealed that if the company proceeds with the project, it will have an option to repeat the project 4 years from now.

d.
Statements a and b are correct.

e.
Statements b and c are correct.


.
A company is considering a proposed expansion to its facilities.  Which of the following statements is most correct?

a.
In calculating the project's operating cash flows, the firm should not subtract out financing costs such as interest expense, since these costs are already included in the WACC, which is used to discount the project’s net cash flows.

b.
Since depreciation is a non-cash expense, the firm does not need to know the depreciation rate when calculating the operating cash flows.

c.
When estimating the project’s operating cash flows, it is important to include any opportunity costs and sunk costs, but the firm should ignore cash flows from externalities since they are accounted for elsewhere.

d.
Statements a and c are correct.

e.
None of the statements above is correct.


.
Which of the following statements is correct?

a.
Well-diversified stockholders do not consider corporate risk when determining required rates of return.

b.
Undiversified stockholders, including the owners of small businesses, are more concerned about corporate risk than market risk.

c.
Empirical studies of the determinants of required rates of return (k) have found that only market risk affects stock prices.

d.
Market risk is important but does not have a direct effect on stock price because it only affects beta.

e.
All of the statements above are correct.


.
Which of the following is not discussed in the text as a method for analyzing risk in capital budgeting?

a.
Sensitivity analysis.

b.
Beta, or CAPM, analysis.

c.
Monte Carlo simulation.

d.
Scenario analysis.

e.
All of the statements above are discussed in the text as methods for analyzing risk in capital budgeting.


.
Lieber Technologies is considering two potential projects, X and Y.  In assessing the projects’ risk, the company has estimated the beta of each project and has also conducted a simulation analysis.  Their efforts have produced the following numbers:


Project X
Project Y
Expected NPV
$350,000
$350,000

Standard deviation ((NPV)
$100,000
$150,000

Estimated project beta
1.4
0.8

Estimated correlation of
Cash flows are not 
Cash flows are highly
project’s cash flows with 
highly correlated with
correlated with the
the cash flows of the 
the cash flows of the
cash flows of the
company’s existing projects.
existing projects.
existing projects.
Which of the following statements is most correct?

a.
Project X has a higher level of stand-alone risk relative to Project Y.

b.
Project X has a higher level of corporate risk relative to Project Y.

c.
Project X has a higher level of market risk relative to Project Y.

d.
Statements b and c are correct.

e.
All of the statements above are correct.


.
St. John’s Paper is considering purchasing equipment today that has a depreciable cost of $1 million.  The equipment will be depreciated on a MACRS 5-year basis, which implies the following depreciation schedule:


 
    MACRS



Depreciation

Year
    Rates


  1
    0.20

  2
    0.32

  3
    0.19

  4
    0.12

  5
    0.11

  6
    0.06

Assume that the company sells the equipment after three years for $400,000 and the company’s tax rate is 40 percent.  What would be the tax consequences resulting from the sale of the equipment?

a.
There are no tax consequences.

b.
The company would have to pay $44,000 in taxes.

c.
The company would have to pay $160,000 in taxes.

d.
The company would receive a tax credit of $124,000.

e.
The company would receive a tax credit of $48,000.


.
Rojas Computing is developing a new software system for one of its clients.  The system has an up-front cost of $75 million (at t = 0).  The client has forecasted its inventory levels for the next five years as shown below:

Year                     Inventory

  1                     $1.0 billion

  2                      1.2 billion

  3                      1.6 billion

  4                      2.0 billion

  5                      2.2 billion

Rojas forecasts that its new software will enable its client to reduce inventory to the following levels:

Year                     Inventory

  1                     $0.8 billion

  2                      1.0 billion

  3                      1.4 billion

  4                      1.7 billion

  5                      1.9 billion

After Year 5, the software will become obsolete, so it will have no further impact on the client’s inventory levels.  Rojas’ client is evaluating this software project as it would any other capital budgeting project.  The client estimates that the weighted average cost of capital for the software system is 10 percent.  What is the estimated NPV (in millions of dollars) of the new software system?

a.
$233.56

b.
$489.98

c.
$625.12

d.
$813.55

e.
$956.43


.
Ellison Products is considering a new project that develops a new laundry detergent, WOW.  The company has estimated that the project’s NPV is $3 million, but this does not consider that the new laundry detergent will reduce the revenues received on its existing laundry detergent products. Specifically, the company estimates that if it develops WOW the company will lose $500,000 in after-tax cash flows during each of the next 10 years because of the cannibalization of its existing products.  Ellison’s WACC is 10 percent.  What is the net present value (NPV) of undertaking WOW after considering externalities?

a.
 $2,927,716.00

b.
 $3,000,000.00

c.
-$   72,283.55

d.
 $2,807,228.00

e.
-$3,072,283.55


.
Myron Gordon and John Lintner believe that the re​quired return on equity increases as the dividend payout ratio is decreased.  Their argument is based on the assumption that

a.
Investors are indifferent between dividends and capital gains.

b.
Investors require that the dividend yield and capital gains yield equal a constant.

c.
Capital gains are taxed at a higher rate than dividends.

d.
Investors view dividends as being less risky than potential future capital gains.

e.
Investors value a dollar of expected capital gains more highly than a dollar of expected divi​dends because of the lower tax rate on capital gains.


.
Which of the following statements is most correct?

a.
In general, stock repurchases are taxed the same way as dividends.

b.
One nice feature of dividend reinvestment plans is that they enable investors to reduce the taxes paid on their dividends.

c.
On average, companies send a negative signal to the marketplace when they announce an increase in their dividend.

d.
If a company is interested in issuing new equity capital, a new stock dividend reinvestment plan probably makes more sense than an open market dividend reinvestment plan.

e.
Statements b and d are correct.


.
In the real world, we find that dividends

a.
Usually exhibit greater stability than earnings.

b.
Fluctuate more widely than earnings.

c.
Tend to be a lower percentage of earnings for mature firms.

d.
Are usually changed every year to reflect earnings changes.

e.
Are usually set as a fixed percentage of earnings.


.
A decrease in a firm’s willingness to pay dividends is likely to result from an increase in its

a.
Earnings stability.

b.
Access to capital markets.

c.
Profitable investment opportunities.

d.
Collection of accounts receivable.

e.
Stock price.


.
Which of the following statements best describes the theories of investors’ preferences for dividends?

a.
Modigliani and Miller argue that investors prefer dividends to capital gains.

b.
The bird-in-hand theory suggests that a company can reduce its cost of equity capital by reducing its dividend payout ratio.

c.
The tax preference theory suggests that a company can increase its stock price by increasing its dividend payout ratio.

d.
One key advantage of a residual dividend policy is that it enables a company to follow a stable dividend policy.

e.
The clientele effect suggests that companies should follow a stable dividend policy.


.
Which of the following statements is most correct?

a.
The bird-in-the-hand theory implies that a company can reduce its WACC by reducing its dividend payout.

b.
The bird-in-the-hand theory implies that a company can increase its stock price by reducing its dividend payout.

c.
One problem with following a residual dividend policy is that it can lead to erratic dividend payouts that may prevent the firm from establishing a reliable clientele of investors who prefer a particular dividend policy.

d.
Statements a and c are correct.

e.
All of the statements above are correct.


.
Which of the following would not have an influence on the optimal dividend policy?

a.
The possibility of accelerating or delaying investment projects.

b.
A strong shareholders’ preference for current income versus capital gains.

c.
Bond indenture constraints.

d.
The costs associated with selling new common stock.

e.
All of the statements above can have an effect on dividend policy.


.
Trenton Publishing follows a strict residual dividend policy.  All else being equal, which of the following factors are likely to cause an increase in the firm’s per-share dividend?

a. An increase in its net income.

b. The company increases the proportion of equity financing in its target capital structure.

c. An increase in the number of profitable projects that it wants to fund this year.

d. Statements a and b are correct.

e. All of the statements above are correct.


.
A stock split will cause a change in the total dollar amounts shown in which of the following balance sheet accounts?

a.
Cash.

b.
Common stock.

c.
Paid-in capital.

d.
Retained earnings.

e.
None of the statements above is correct.


.
You currently own 100 shares of stock in Beverly Brothers Inc.  The stock currently trades at $120 a share.  The company is contemplating a 2-for-1 stock split.  Which of the following best describes your position after the proposed stock split takes place?

a.
You will have 200 shares of stock, and the stock will trade at or near $120 a share.

b.
You will have 200 shares of stock, and the stock will trade at or near $60 a share.

c.
You will have 100 shares of stock, and the stock will trade at or near $60 a share.

d.
You will have 50 shares of stock, and the stock will trade at or near $120 a share.

e.
You will have 50 shares of stock, and the stock will trade at or near $60 a share.


.
Which of the following statements is most correct?

a. One advantage of stock repurchases is that they are generally taxed more favorably than dividend payments.

b. One advantage of dividend reinvestment plans is that they enable investors to avoid paying taxes on the dividends they receive.

c. Stock repurchases make sense if a company is interested in increasing its equity ratio.

d. Stock repurchases make sense if a company believes that its stock is overvalued and that it has a lot of profitable projects to fund over the next year.

e. One advantage of an open market dividend reinvestment plan is that it increases the number of shares the company has outstanding.


.
Which of the following statements is most correct?

a.
One reason that companies tend to avoid stock repurchases is that dividend payments are taxed more favorably than stock repurchases.

b.
One advantage of dividend reinvestment plans is that they allow shareholders to avoid paying taxes on the dividends that they choose to reinvest.

c.
If a company announces a 2-for-1 stock split and the overall value of the firm remains unchanged, the company’s stock price must have doubled.

d.
All of the statements above are correct.

e.
None of the statements above is correct.


.
Which of the following statements is most correct?

a.
The tax code encourages companies to pay dividends.

b.
If a company uses the residual dividend model to determine its dividend payout ratio, its dividend payout will tend to increase whenever it has a large number of investment opportunities.

c.
The clientele effect encourages companies to adopt a strict version of the residual dividend model.

d.
In many cases, stock repurchases tend to increase earnings per share, but they also increase the firm’s debt ratio and financial risk.

e.
Stock repurchases are taxed the same way as dividends are taxed.


.
Which of the following statements is most correct?

a.
If a company puts in place a 2-for-1 stock split, its stock price should roughly double.

b.
Share repurchases are taxed less favorably than dividends; this explains why companies typically pay dividends and avoid share repurchases.

c.
On average, a company’s stock price tends to rise when it announces that it is initiating a share repurchase program.

d.
Statements a and b are correct.

e.
All of the statements above are correct.


.
Which of the following statements is most correct?

a.
The bird-in-the-hand theory argues that investors prefer dividends because dividends are taxed more favorably than capital gains.

b.
Stock repurchases increase the number of outstanding shares.

c.
The clientele effect can explain why companies tend to vary their dividends a lot on a year-to-year basis.

d.
Statements a and b are correct.

e.
None of the statements above is correct.


.
Which of the following statements is most correct?

a.
The tax preference hypothesis suggests that companies can reduce their costs of capital by increasing their dividend payout ratios.

b.
One advantage of the residual dividend policy is that it leads to a stable dividend payout, which is desired by investors.

c.
Firms with a large number of investment opportunities and a relatively small amount of cash tend to have above average dividend payouts.

d.
Statements a and b are correct.

e.
None of the statements above is correct.
ANSWERS

�.	Relevant cash flows	Answer: d  Diff: E  N


The correct answer is statement d.  Statement a is correct.  This represents a future loss in revenue to the firm.  Statement b is also correct because the firm needs to consider the best alternative use of the land.  Statement c, on the other hand, is NOT correct since it represents a sunk cost.  So, Statement d is the correct choice.





�.	Relevant and incremental cash flows	Answer: a  Diff: E  N


Statement a is true; the other statements are false.  If the company lost two other accounts with positive NPVs, this would obviously be a huge negative when considering the proposed project.  If the firm has an option to abandon a project if it is unprofitable, this would make the company more likely to accept the project.  An option to repeat a project is a plus not a negative.





�.	New project cash flows	Answer: a  Diff: E  N


Statement a is true; the others are false.  Depreciation cash flows must be considered when calculating operating cash flows.  In addition, externality cash flows should be considered; however, sunk costs are not included in the analysis.





�.	Corporate risk	Answer: b  Diff: E


�.	Risk analysis	Answer: e  Diff: E


�.	Risk analysis	Answer: c  Diff: E


Statement a is false.  Stand-alone risk is measured by standard deviation. Therefore, since Y’s standard deviation is higher than X’s, Y has higher stand-alone risk than X.  Statement b is false.  Corporate risk is measured by the correlation of project cash flows with other company cash flows. Therefore, since Y’s cash flows are highly correlated with the cash flows of existing projects, while X’s are not, Y has higher corporate risk than X.  Market risk is measured by beta.  Therefore, since X’s beta is greater than Y’s, statement c is true.





�.	Taxes on gain on sale	Answer: b  Diff: E


When the machine is sold the total accumulated depreciation on it is: (0.20 + 0.32 + 0.19) ( $1,000,000 = $710,000.  The book value of the equipment is:  $1,000,000 - $710,000 = $290,000.  The machine is sold for $400,000, so the gain is $400,000 - $290,000 = $110,000.  Taxes are calculated as $110,000 ( 0.4 = $44,000.





�.	Inventory and NPV	Answer: d  Diff: E  N


We are given the up-front cost.  The new software system’s cash flows are the annual cash amounts freed up by not having to invest in inventory.





� EMBED Word.Document.8 \s ���





NPV = -$75,000,000 + � EMBED Equation.3  ��� + � EMBED Equation.3  ��� + � EMBED Equation.3  ����      + � EMBED Equation.3  ��� + � EMBED Equation.3  ���


NPV = -$75,000,000 + $181,818,000 + $165,289,000 + $150,263,000 +�      $204,904,000 + $186,276,000


NPV = $813,550,000.





�.	NPV with externalities	Answer: c  Diff: E


Step 1:	Calculate the NPV of the negative externalities due to the cannibalization of existing projects:


Enter the following input data in the calculator:


CF0 = 0; CF1-10 = -500000; I = 10; and then solve for NPV = $3,072,283.55.





Step 2:	Recalculate the new project’s NPV after considering externalities: +$3,000,000 - $3,072,283.55 = -$72,283.55.





�.	Dividends versus capital gains	Answer: d  Diff: E


�.	Dividends, DRIPs, and repurchases	Answer: d  Diff: E


Statement a is false; repurchases are taxed as capital gains.  Statement b is false; investors still have to pay income taxes on reinvested dividends.  Statement c is false; an increase in dividends is usually a positive signal.  Statement d is true.





�.	Dividend payout	Answer: a  Diff: E


�.	Dividend payout	Answer: c  Diff: E


�.	Dividend theories	Answer: e  Diff: E


Statement e is true; the others are false. MM developed the dividend irrelevance theory.  Reducing the payout would have the effect of increasing the cost of equity if the bird-in-the-hand theory holds.  The tax preference theory suggests that a company can increase its stock price by reducing its payout ratio.  The residual dividend policy should be followed to determine the long-run target payout ratio.  If followed year to year, dividends would fluctuate.





�.	Dividend theory and policy	Answer: c  Diff: E


Statement c is true; the others are false.  The bird-in-the-hand theory implies that a company can reduce its WACC and increase its stock price by increasing its dividend payout.





�.	Optimal dividend policy	Answer: e  Diff: E


�.	Residual dividend policy	Answer: a  Diff: E


Statement a is true.  If net income increases, and all else is equal (that is, the same number of projects are available to invest in as before, etc.), the company will have more money left over after making its investments to pay out as dividends.  Statement b is false.  If the company increases the proportion of equity financing in its target capital structure, it will need to either increase the proportion of equity (by increasing retained earnings, therefore, leaving less money for dividends) or reduce the proportion of debt it uses (meaning it will have less debt to finance new projects and will need more of its retained earnings to make investments).  Statement c is false.  If the company has more profitable projects, this will leave less money for dividends.





�.	Stock split	Answer: e  Diff: E





�.	Stock split	Answer: b  Diff: E


With a 2-for-1 stock split, the price is (roughly) halved and the number of shares doubles.





�.	Stock repurchases and DRIPs	Answer: a  Diff: E


Statement a is true.  If a company repurchases stock instead of paying dividends, the existing shares will go up in value.  This capital gain is taxed at a lower rate than dividends, which are taxed at ordinary income tax rates.  Statement b is false.  As soon as the dividend is paid, the taxes due are calculated.  The IRS doesn’t care if the investor reinvests them or buys a plane with them.  Statement c is false.  If a company repurchases its stock, it reduces assets (it uses cash to buy back the shares) and reduces equity.  The amount of debt remains unchanged; however, since equity has decreased the proportion of debt increases.  Statement d is false.  If a company believes the stock is overvalued, it will not repurchase shares because it will end up paying too much for the shares.  If the company has many profitable projects, it will want to invest in those and not use its cash to repurchase shares.  Statement e is false.  An open-market DRIP means that dividends are used to buy shares from someone else on the secondary market.  The total number of shares outstanding does not change.





�.	Repurchases, DRIPs, and stock splits	Answer: e  Diff: E


Dividend payments are taxed at the personal tax rate.  Stock repurchases end up producing capital gains, which are taxed at a lower rate than the personal tax rate.  Therefore, statement a is false.  Dividend reinvestment plans (DRIPs) are not a way to circumvent the IRS.  The company really paid a dividend, which is taxed like ordinary income. You chose to reinvest it. The IRS doesn’t care whether you bought more stock or bought a new car.  You still receive the income and you still pay income taxes on it.  Therefore, statement b is false.  If there is a 2-for-1 stock split, this means that for every share you used to own, you now own two.  In order for your net wealth to remain unchanged, the stock price would have to fall by half, not double.  Therefore, statement c is false.  Since statements a, b, and c are false, the correct choice is statement e.





�.	Dividend policy and stock repurchases	Answer: d  Diff: E  N


The correct answer is statement d.  Since dividends are exposed to double taxation, statement a is incorrect.  Statement b is also incorrect.  Just the opposite will occur.  As the number of a firm’s investment opportunities increase, its payout will tend to decrease.  Statement c is also incorrect.  The clientele effect suggests that there are investors with different dividend preferences.  So, even though a firm adopts a policy less than a strict residual dividend model, investors exist who will still be attracted to the firm’s policy.  Finally, statement e is incorrect.  Stock repurchases may not be taxed at all, whereas dividends are always taxed as ordinary income to the investor.  Therefore, statement d is the correct choice.





�.	Miscellaneous dividend concepts	Answer: c  Diff: E


Statement c is true; the others are false.  If a 2-for-1 stock split is initiated, a firm’s stock price should decrease by one-half its original price.  Repurchases allow shareholders to obtain capital gains by selling their stock, which are taxed at a lower rate than dividends. Since repurchase announcements are viewed as positive signals by investors, the stock price would tend to increase.





�.	Miscellaneous dividend concepts	Answer: e  Diff: E


Statement a is false; the theory states that investors prefer dividends because they are more certain about receiving dividends than they are about capital gains.  In addition, the statement is false because capital gains are taxed more favorably than dividends.  Statement b is false because stock repurchases decrease the number of outstanding shares.  Statement c is false.  If a company attracts a particular clientele, it would want to keep that clientele.  Changing its dividends frequently would make it impossible for any one clientele to be happy. Therefore, the correct choice is statement e.





�.	Miscellaneous dividend concepts	Answer: e  Diff: E


Statement e is correct.  The tax preference theory suggests that individuals prefer capital gains to dividends due to the preferential tax treatment for capital gains.  A residual dividend policy leads to an unstable dividend payment.  The residual policy is used only to develop a long-run dividend payout policy.  A firm with a large number of investment opportunities and a small amount of cash would have a low dividend payout.
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